

$$4) B(x, t) = \frac{e^{\alpha x} + e^{-\alpha x}}{e^{\alpha a} + e^{-\alpha a}} B_0 e^{i\omega t} \quad \text{と仮定}$$

$$\frac{\partial B}{\partial t} = i\omega \frac{e^{\alpha x} + e^{-\alpha x}}{e^{\alpha a} + e^{-\alpha a}} B_0 e^{i\omega t}$$

$$\frac{\partial B}{\partial x} = \alpha \frac{e^{\alpha x} - e^{-\alpha x}}{e^{\alpha a} + e^{-\alpha a}} B_0 e^{i\omega t}$$

$$\frac{\partial^2 B}{\partial x^2} = \alpha^2 \frac{e^{\alpha x} + e^{-\alpha x}}{e^{\alpha a} + e^{-\alpha a}} B_0 e^{i\omega t}$$

$$= \frac{(i\omega)^2}{\delta^2} B$$

$$= \cancel{2i} \times \frac{\mu_0 \sigma \omega}{\cancel{2}} B$$

$$= \mu_0 \sigma i\omega B$$

$$= \mu_0 \sigma \frac{\partial B}{\partial t}$$

$\mu_0 = \mu$ と仮定して 3) で求めた式と合わせて解を示した。

5) x に依存するとは仮定して考える

$$f(x) = \frac{e^{\alpha x} + e^{-\alpha x}}{e^{\alpha a} + e^{-\alpha a}} \quad \text{と仮定}$$

$$f'(x) = \alpha \frac{e^{\alpha x} - e^{-\alpha x}}{e^{\alpha a} + e^{-\alpha a}}$$

$$f''(x) = \alpha^2 \frac{e^{\alpha x} + e^{-\alpha x}}{e^{\alpha a} + e^{-\alpha a}}$$

$$= \alpha^2 f(x) = \frac{2i}{\delta^2} f(x) \quad \text{★}$$

$$f^{(3)}(x) = \frac{2i}{\delta^2} f'(x) = \frac{2i}{\delta^2} \alpha \frac{e^{\alpha x} - e^{-\alpha x}}{e^{\alpha a} + e^{-\alpha a}}$$

$$f^{(4)}(x) = \frac{2i}{\delta^2} f''(x) = \frac{-4}{\delta^2} f(x)$$